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Ⅱ 次の問 1 ～問 5 の各文において、それぞれ下の①～⑤を並び替えて、文を完成しなさい。
ただし、解答は 1 から 10 に入るものの番号のみを答えなさい。なお、2 つとも正答の場合
のみ得点を与えるものとします。

問 1 It makes no 　　1　　 　　 　　 　　2　　 　　 　　 　　 　　 is coming or not.

 ① me ② whether ③ difference

 ④ he ⑤ to

問 2 If we want international peace and security, 　　 　　 　　3　　 　　 　　 　　4　　 　　 　　 

  the dictatorship of our neighboring country.

 ① to ② cannot ③ objecting

 ④ help ⑤ we

問 3 We have been concerned 　　 　　 　　5　　 　　 　　 　　 　　 　　6　　 the United States 

since its troops withdrew from the war-torn country.

 ① community ② how ③ about

 ④ sees ⑤ the international

問 4 The project report has to be completed 　　7　　 　　 　　 　　 　　 　　8　　 　　 　　 at the 

company.

 ① arrive ② we ③ time

 ④ the ⑤ by

問 5 Mary wrote two books on global warming, 　　 　　 　　 　　 　　9　　 　　 　　 　   10　    
  into documentary films.

 ① made ② which ③ of

 ④ were ⑤ both

─ 4 ─

問 2
 Jim : Excuse me,（　　4　　）?

 Holly : Yes, it’s（　　5　　）.

 Jim : Three fifteen?

 Holly : Yes, that’s right.

 Jim : Thanks.

  （ 4 ） ① how much does it cost

   ② would you like to go out on a date

   ③ do you have the time

   ④ can you teach me the time

  （ 5 ） ① quarter to 3

   ② quarter past 3

   ③ half past 3

   ④ 3 past 15

─ 1 ─

Ⅰ 次の問 1 ～問 5 の英文の空欄に入るものとして最も適切なものを下の①～④の中から一つ
選び、その番号で答えなさい。

問 1 （　　　　）is a game in which opposing teams of players hit a ball over a high net with their hands 

without letting it touch the ground.

 ① Basketball

 ② Baseball

 ③ Volleyball

 ④ Badminton

問 2 His mother gave him（　　　　）money she had.

 ① which

 ② what

 ③ many

 ④ that

問 3 Electric services are now back to（　　　　）after the big earthquake.

 ① formal

 ② general

 ③ rural

 ④ normal

問 4 Tom’s company will move from its（　　　　）location in Saitama to a much more modern office in 

Tokyo.

 ① present

 ② widespread

 ③ frequent

 ④ gifted

問 5 At the end of next month, Jane（　　　　）the orchestra in her local town for 20 years.

 ① has conducted

 ② will have been conducting

 ③ had been conducting

 ④ is conducting

─ 3 ─

Ⅲ 次の問１～問２の会話文（　　1　　）～（　　5　　）に入る最も適切なものを、下の
①～④から一つ選び、その番号で答えなさい。

問 1
 Mike : Hi Tom, how is your dad?

 Tom : He’s（　　1　　）in the hospital.

 Mike : How long has he been in there for?

 Tom : About 3 weeks now. He’s getting better.（　　2　　）, he can go home next week.

 Mike : Oh, that’s good.

 Tom : Yes, we’re（　　3　　）a welcome home party for him. Do you want to come?

 Mike : Yes! I’d love to.

  （ 1 ） ① not

   ② gone

   ③ still

   ④ going

  （ 2 ） ① Unfortunately

   ② Tomorrow

   ③ Sometimes

   ④ Hopefully

  （ 3 ） ① planning

   ② doing

   ③ cooking

   ④ playing
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問 2 How much does Lawson pay per hour?

 ① ¥980

 ② ¥1,000

 ③ ¥1,400

 ④ It is unclear from the passage

問 3 How many people were paid the highest salary?

 ① 3

 ② 8

 ③ 1,400

 ④ 2,000

問 4 About how many people did not have a part-time job?

 ① 0%

 ② about 10%

 ③ about 15%

 ④ about 30%

問 5 What does the passage suggest might be the reason for no women working as food delivery cyclists?

 ① Because the pay was too low.

 ② Because the work was too hard.

 ③ Because they didn’t like cycling.

 ④ Because it might be dangerous.

─ 8 ─

問 2 下線部 ⑵ unique, と ⑸ explosion, とほぼ同等の意味となる語句として最も適切なものを下の
①～④の中から一つ選び、その番号で答えなさい。

 （2） unique

  ① similar to many others

  ② joined to other networks

  ③ different to all the others

  ④ something other companies want to have

 （5） explosion

  ① a big bang from a bomb

  ② a very dangerous situation

  ③ a big surprise for everybody

  ④ a very big and sudden growth

問 3 本文の内容に合うように、次の a ～ e の質問の答えとして最も適切なものを下の①～④の中
から一つ選び、その番号で答えなさい。

 a. According to the passage, when was the modern internet seen to begin?

  ① in the 1960s

  ② in the 1970s

  ③ in 1983

  ④ in 1989

 b. According to the passage, which of these best explains what TCP/IP is?

  ① a machine that allows computers to connect to the internet

  ② a piece of computer code that allows computers to communicate with each other

  ③ an operating system that works on all computers so they can communicate

  ④ a connector that allows computers to use telephone lines to communicate with each other

 c. According to the passage, how is an intranet different from the internet?

  ① An intranet only shares information with computers on that network.

  ② An intranet does not use TCP/IP.

  ③ Intranets are very old and no longer used.

  ④ Intranets were invented by ARPANET.

─ 5 ─

Ⅳ

　
 It is very common for Japanese university students to have a part-time job, either on the weekend or in the 

evenings. We asked them where they worked, and how much they were paid per hour.

 The most common jobs were in convenience stores. More women than men worked at 7-Eleven, but more 

men than women worked at Lawson. The second most common place to work for women was at McDonalds, 

followed by Uniqlo. Uniqlo and McDonalds were also common workplaces for the men, but food delivery 

cyclists were slightly more common. It was also a better paid job, if you can get lots of deliveries. But, maybe 

because it meant cycling around late at night alone, no women had this job. 

 The two highest paid jobs were the least common: Starbucks and Tokyo Disneyland. The three students 

working at TDL received almost ¥2,000 per hour, and the eight women working in Starbucks were paid ¥1,400 

per hour. Cram schools paid better than local restaurants. Local restaurants paid the same as the convenience 

stores, ¥980 an hour. All of the students working earned more than the large group of students who did not 

work at all.

問 1 Which letter is 7-Eleven?

 ① A

 ② B

 ③ C

 ④ D

次のグラフとそれに続く説明文の内容に合致するように、下の問 1 ～問 5 の質問に対する
答えとして最も適切なものを、下の①～④の中から一つ選び、その番号で答えなさい。

─ 7 ─

 The last couple of years has proven how useful the internet can be, allowing people to study, work, 

shop and play from the safety of their homes. The internet has been around for a long time, but is constantly 

developing.

 The first modern computer network was developed by the USA in the 1960s, called the ARPANET. It 

（ 1 ）universities and government research centers to share information and ideas over a computer network, 

but it was very limited. A few large companies set up their own networks to speed up the movement of 

information inside the company. But, these were closed networks, called intranets - they only worked inside the 

company, and the system to connect the computers was often ⑵ unique to that company.

 In the 1970s, two American scientists called Vint Cerf and Bob Kahn, developed a method - or protocol 

- called TCP/IP that allowed networks to connect to each other smoothly. Computers with different operating 

systems on different networks could now share information. On January 1st 1983, ARPANET and other US 

government networks started using TCP/IP. This is seen by many as the birth of the internet as we know it 

today, and Cerf and Kahn are often called the fathers of the internet. The protocol they developed became the 

standard for all networks around the world, allowing for information to spread quickly and easily. But, the 

internet was not（ 3 ）quite what we think of it today.

 The World Wide Web, which most people today think of when they think of the internet, was not invented 

until 1989, by Tim Berners-Lee. He made a language that allowed information to be displayed on web pages 

to be read in a browser, making it much（ 4 ）for people without any technical knowledge to use the internet. 

This allowed new companies - Google, Facebook and Amazon - to set up websites and services that changed 

the way we communicate, shop, work and play. It also led to an ⑸ explosion in the number of billionaires in 

the world, and the amount of power they and their companies have over our lives and privacy. More and more 

people and governments are concerned about the wealth and power of these “masters of the internet”, which 

may mean that the internet will change again in the future. One of these people includes Berners-Lee, who has 

not profited from his creation, and in fact gifted it to the world as a way of spreading knowledge.

問 1 文中の（ 1 ）（ 3 ）（ 4 ）に入る語句として最も適切なものを下の①～④の中から一つ選び、
その番号で答えなさい。

 （ 1 ） ① stopped ② allowed ③ sold ④ prevented

 （ 3 ） ① well ② just ③ yet ④ now

 （ 4 ） ① easy ② easiest ③ easier ④ difficult

Ⅴ 次の英文を読み、後の問いに答えなさい。
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 d. According to the passage, what are people worried about?

  ① Anybody can use the internet.

  ② Too many people are using the internet.

  ③ There are a few very powerful people who control the internet.

  ④ The internet will keep on changing in the future.

 e. According to the passage, did Tim Berners-Lee get rich from his invention - and why?

  ① Yes - because he sold it to Google, Amazon, and other companies.

  ② Yes - because he has control over our lives and privacy.

  ③ No - because it is not so useful.

  ④ No - because he gave it away for free.
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【コミュニケーション英語Ⅰ・Ⅱ　英語表現Ⅰ】

Ⅰ（15 点） Ⅱ（20 点） Ⅲ（15 点）

設 問 解 答 配 点 設 問 解 答 配 点 設 問 解 答 配 点

問 1 ③ 3 問 1
1 ③

4

問 1

⑴ ③ 3
2 ①

問 2 ② 3 問 2
3 ②

4 ⑵ ④ 3
4 ③

問 3 ④ 3 問 3
5 ②

4 ⑶ ① 3
6 ④

問 4 ① 3 問 4
7 ⑤

4

問 2

⑷ ③ 3
8 ②

問 5 ② 3 問 5
9 ②

4 ⑸ ② 3
10 ①

Ⅳ（20 点） Ⅴ（30 点）

設 問 解 答 配 点 設 問 解 答 配 点

問 1 ② 4
問 1

⑴ ② 3

⑶ ③ 3

問 2 ① 4
⑷ ③ 3

問 2
⑵ ③ 3

問 3 ① 4
⑸ ④ 3

問 3

a ③ 3

問 4 ④ 4
b ② 3

c ① 3

問 5 ④ 4
d ③ 3

e ④ 3
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